D)2x -3y =38 @ —x+y=3
@2x—y—4:0 ® x+y-3=0

B

@D 2x-3y=28°] (1,-2) & st}
2x1-3%(-2)=38

@ 2x—y—-4=0°f (1,-2) & AT
2x1-(-2)-4=0

o,




e 2719 &A% Sl LA

A4 —x+3y =6 9 SE LT

EELE
H7]
1 5

o2  ©(sg)  e(ug)

1 11
(4 3) o3 ® (0. 2)
D 6.0.© ®©.©8 ®6.©.@

® 6,006 G)oesee

2] gh& —x+ 3y = 6°] Y3} HW ©,8,0,8¢ H5T

e

L




O

@ 571 @ 671 @ 770

@ 47N




10
24 T 117

25

®

10

£ x, y ol W A o= YepfH?

25x+
2% " 97
2—5x+ Ey

Q
®

10
11

2—6x+ Ey

24x+
25" T 11
25

@

<+
Gl




® 5x-2y=8

@ 2x+3y=38

@)3x-2y=38 ® 4x-y=38

® —2x-4y=8

[e]

she 6+ 2 = 8 olck.




6. x, y7F A5 o, 3x 42y = 1S TEBE (1, y) 9] 52

@1 @: ® 3 @ 4 ® 5

(1, 4),(3, 1)°|B= 2




B {(oy) lx+2y =8, xy= A} = 22
et A% (x,y) o A5E?

A el 2

oA @14 @24 @AM O 47
x+2 = 8 & WEFE FAS 5 y o P
(2, 3), (4, 2), (6, 1) = 370




8. A7k o A Ay HERTL _ HEIER o g gy
(5, k) & =, k o] gk=?
@3 @ 5 ® 7 @ 9 ® 1

Ae] ol 12 & FotH
33x+2y-1)=4(2x+y+2), x+2y=11
(5, k) & tHYstH

542k =11

k=3




arpggy BT D) o gt ot n,—a) 2n

g, —2m +1 9 gr& vrEA 3 A2?

@® -3 @ 0 ®1 @)3 ®7

Sxty=l _ B=(H5) o opmef 62 BE T, (m, —4) S
2 3 9 9

qigietel 2,

9x+3y-3=4y—-2x-10

1lx—y=-7
1lm+4=-7
om=—1

L =2m+1=2+1=3




10.

A g AR o2
© AL AHEE @ A2 AHEE (© LR
@ A4 AHEH ® A1, 3AHE4

B

l=8
Qg 1Y ot 2t
Y

o Nz

Bx+dy = 12 & WESHE AL ..

-, (4, 0), (0, 3), -~

@]




11. 7h A% ), Dol A we o] L 9

=S XY
WS D2
@x+y=6 @ 2x+3y=15 ® 3x+2y=20
@ 2x+y=10 ® x+2y=6

B

[um—y
(%4
[\
g

—~ o~~~ —~
= &9 0
- W
S N N N N
—~
(=2
[
SN—

2k
—

M -
=

©®0 006
prace

5ok
[\)
Lt
—




12. o2 27

e

oA Lzt
789

[e]
-

re
i

™,

ok

40

e NN o N 9

X2z 2 4L

%
o

(x, y)

®©® 0 ® © O© 9

o] groll M y o gh& 72 = At

® 9,0 6
® 0,06 0
®a.0.6,@ 6

©® 0,6,0

® 96,60

<l

jur)
o
a1

T+

1o
H
i

e
1

(x, y) = &2t

o}

BRI




13. A= x, y7h e ol F o o221 0], x 2 2 HIE 3 02 UE
W2y oA 1S W gk Aol e, ofmf y o gh2?

@9 @10  Ou @12 613

B ~

x+y=21
2x

vy
3 7

x+y:2]_ ...@
2x-3y=-3 ---@

Ox3+@53H x=12,y=9




14.

AT 2x+ay—-6=00°] (0, 2), (=3, b), (¢, —2) E = 7H
i, &4 a, b, ¢ A Fa+b+c o #§2?

® 9 @ 11 ® 12 @13 ® 15

(0, 2) & 2x+ay-6=0° NASHH 2a-6 =0, A a =3,
(-3, b) E2x+3y-6 =0 HYSIH 3b - 12 = 0, T=HA]
b=4,
(e, =2) E2x+3y-6=0c°] HYstH 2c - 12 = 0, THeHA]
c=6




yl\
o] Jjzmolt}, &A% (4, m), (n, 2) 7} ©]
DA O] A W,om—n O G~
3
29
0 0~ 7
@ -2 @)-1 ® 0
@ 1 ® 2
x AHET}y AHS U5t q, b 9] 7S Z=TH

(0,3) & tHY3HA, b =2 ], (6, 0) &
mrebA FolZl A2 —x -2y + 6 = 0 ©]
HdstH m =1 °]1,

(n, 2) & HYSHH n =2 7} A}
om-n=1-2=-1




